Queshion Sergth

Vpp = 5V

- | ceune \irmn VENYAS Vi, 1V
t

Ple v, wdh Aecpek b Va
T/: @ ..Qw g s <§.&T%é§ Ok 9V,

g ——

y | She

m ) ok dh pepons o spushan
Fhe To.r
@&E& tha &»M_f .?,TE pbrent .?\ngLVH.
bl dos s stynfyd




> ® hnw_s\s Jhak 12 wad o #\.ﬁ\u
Voiz Vo= 1. = 100wV,
0. winwon  Byednire eo:&\ms ov= Usa” Uy,

. Wainduin 0 hé&-eN‘L %\ks% —10.

IE Vs Yy FanloD), fob & Y amd W)



suh Pk Y Tvamsrshn s itng v <adunahan
\hh\, A .d\_v = 100wV.



() 2k the “Swall- el Wontwds  epudink vebvork fn S
\\u:b_\z_m é)eoo:—g. .>An$§, Hrok ..;.f \?quwmsm &, mﬁ»@.
sahwadion. Al epresd i, m e MOSFLT an

n
(A averd  tonfusin  bepoean e ok,
N.s N%,Zr e % Wﬁft dvoun g isbn), &Mi_m\ ¢o\=_. T dl Carer

QV
) Ww 0 %f
Vg ~\\|:m_l — \q\\ Co+
FIE T T







B Tk Vy v Hhak
Vs )_,e.vu 15V

~ () fnk Ve /.

O 3 vi= Up Sinfi) | ek vs i mar U

J
Yot (ow phile korhivg e Avmsrtn i
h»% i%@gu dim 100m V. .

dy— Tow—t
A 8
<
| I
"
3
S
vl
&
=
=
o
<



